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Assessment
Unit 6: Subtraction Within 100
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3. Subtract.
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4. What are the missi_ng numbers?
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5. Write the missing numbers.

(a) [:]+5=9 (b) 20+
() 9- D:s (d) 70-

6. Solve these word problems.

(a) 18 monkeys are playing in the park.
Later, 8 more monkeys join in.

How many monkeys are there in the park in the end?
?
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18 +8=

There are [j monkeys in the park in the end.

(b) There were 36 pigeons on the ground.
Later, 12 pigeons flew away.

How many pigeons were there left on the ground?
36

12 ?

There were [:] pigeons left on the ground.



